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1. Verify if the given number is a solution for the given inequality. [K/U] [3 marks]
a) ~x+1<2x-3, x=-1 b) x? -2x<5~x, x=2 2x—3> et
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2. Convert the inequality notation into the interval notation and then graph it. [K/U] [1 mark]
-2<x<3
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3. Convert the interval notation into the inequality notation and then graph it. [K/U] [1 mark]
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4. Write the equation of the circle represented in the right figure. [K/U] [2 marks]
W=—""2"5 L=-4 Sy R=0
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5. Solve each equality or inequality and then graph it.

a) |x|=5
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[K/U] [3 marks]
c) |x|>4
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6. Solve each inequality and then graph it. [K/U] [4 marks] ~

a) 6-2x>5x-8 b) ~2(3x-1)+2<-2+3(2x-1)
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7. Solve each equality or inequality and then graph it. ' [K/U] [4 marks]
a) |3-5x|=2 b) [1-2x[<3
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8. Solve the inequality and then graph it. Show your work. [A] [3 marks]
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9. Solve the inequality and then graph it. Show your work. ! [Aj [3 marks]
2(x-1)>
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10. Analyse the symmetry of each graph. [A] [3 marks]
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11. Analyse the symmetry of each equation. [A] [3 marks]
a) y=— b) x=y?-3 c) x? < y| |
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12. Graph the following circle on the grid provided on the right. [A] [3 marks]
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13. Solve the inequality and then graph it. Show your work. , [A] [3 marks]
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14." Graph the following relation x = y| [A] [3 marks]
Show your work (give reasons why your answer is that.) :
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15. Graph the following semicircle x =2 _—_\_/_1 6—(y+3)* [A] [3 marks]
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16. Find the x-intercepts and t'he y-intercepts for
(x-D?+(y+2)2 =16 7
Show your work, and then graph the circle.
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Bonus Question. Consider the “maximum” function defined by:

if x= i : [
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Ex: max(2,3)=3, max(-3,2)=2.

Graph the following relation:  max(| x|,| y[) =2 *-’ngtl.{ﬂ YY ohERT l R
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